PART ONE: Reading (15 points)
A. Comprehension (08 points)
Read the text carefully then do the following activities.
An estimated 158 million children aged 5-14 are engaged in child labour- one in six children in the
world. Millions of children are engaged in hazardous situations or conditions such as workii
working with chemicals and pesticides in agriculture or working with dangerous machi

everywhere but invisible: toiling as domestic servants in homes, labouring be
hidden from view in plantations. ..

In Sub-Saharan Africa, one child in three is engaged in child labour, reprgg 69 1
In South Asia, another 44 million are at work.

Children living in the poorest households and in rural areas are most likely to be engage
labour. Those burdened with household chores are girls. Millions of girl#®
are especially vulnerable to exploitation and abuse.~——

g that all_ en go to school and.

The UNICEF often interferes with chidtren's education.
that their education is of good quality, lis .@r preventing

_ﬂ

SUNICEF Social Media®

T

A. ........... children are engaged in child abglir in t .
ne out of six ' iffé; ¢. Sixty nine million
B. Some African and Asian childre are wurlu
a. fa1r conditions. lnsafe cof c. legal conditions.
C. Girls in rural areas are ...........
a. less exploited than h as E:-:plmled as @rmch more exploited than

D. The UNICEF is an institution which. ..

a. encourages child labour. @hlldﬂen from child labour
c. prevents children's education.
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3. Answcr the l’nilmwng quﬁhms acmrdmg to the text
a. Mention three tasks children are forced to do. —> e
b. In which con

¢. How can we

ild labour? [,

h. Millions of children are deprived of protection and
¢. Children are suffering from conflicts and wars.
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1enis dre children engaged in child labour?
2\ &N S "“"Q 2

4. Choose the general idea of the text.
o hildren are exploited in labour in some parts of the world

5. Who or what de the unclergned words refer to in the text?

a. they (81) C.\f\

B. Text Explnraﬂnn
1. Find in the text words : closest in m
a. risky (§1) [-\cn_ Uﬁh answer (§4)

)t Woas
2. Complete the u:harl as shuwn in the e

\.(n b. who (§3)

\

f}b

\ﬁm]
and

N

O () C,J"

(07 points)

verb

noun
to labour labour
toengage | © NS

BT

fie

preventive
_— -
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3. Rewrite sentence (b) so that it means the same as sentence (a). [‘\ -9 ?

L. a. Some café owners exploit children as waiters for a miserable pay.
b. Children .. cx.\C .. €X Plo £.L &l
2. a. Children do most uf the hard work. They are ha 11[1’\
b. Although. & b il 1en Ao conost f (Be hard Woe <)’
3. a. Governments s]mhtﬂ protect children from exploitation.
b. It's high time . %DU Plﬂ‘("&.c..[?e,ai T

4. Classify the following words according to the number of their s
domestic - children - labour - waork

N

one syllable [ two syllalles three s
LJoC\C [ CcwWwdlolitn
Ca boodil

5. Fill in the gaps with words from the list.

3 illegal ACpoverty .\

Child labour is a worldwide issue, It is .S 1on ynemployment and
especially o ...(2).... Parents have to send their chj ing$,2(3)... works rather than
studying. If they .(4)... that this brings th i ware mistaken

~ . N (

Ld.anmee..Co o £ oway\ =

Q

[ ]
ph_wgpa
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PART TWO: Written Expression (05 points)
Choose ONE of the following topics.

Lopic one:

U ollowing notes, writela Compositionof 120 to 150 words on:

the causes\of child labour all over the world. ~——
“peverty | illiterate parents .

- lack of motivation for schooling .
- 1o protection nor care from families and institutions
- exploitation by rich owners.

[ ]
ph_wgpa
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The HubbTe space telesmpe is a deep space imager used by NASA to explore space. It collects light,

magnifies jmage es astronomers the most detailed image own to man. Hubble has been at
work sincd April 25 1990, and celebrated its 20th anniver u‘f@ April 24, 2010,
Twenty years n service, and still being the leading source for space news, says a lot ahg s

ith some of its discoveries being so f._lgmfmant that NASA would have

overall Tongevity and productiveness, Over 6000 scientific articles have been published bg "
él i ,

1_the same results. lts importance o me is based
ere we live in. NS

|Rresions (o accomp
, | llm-ga]
——

=
Its im such @Fﬂld asﬁ'ﬁ’lmmrﬁ around the wm'ld
currently ll g source for new mformation and g :

e, but, after a stalled [auncl

—

1. Circle the letter that corresponds to the right answer.

The text is: ...
a. a newspaper article. b. an extract fro

2. Are these statements true or false? Write

statement.

a. Hubble space telescope retransmits pictur | P
b. NASA celebrated the twentieth annivers%f' Hubble here on Earth. -

¢. Hubble is useful to provide NASA with nécessary data. (

d. The 1985 space mission was unsuccessful . ‘"I"‘--
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3. Answer the following questions according to the text.
a. When did Hubble telescope start work?
b. Is the writer interested in astrology? Justify from the text. N 2 ] E\ e AN n &::1?
¢. Why is Hubble telescope important?

4. In which paragraph is the or the reparation of Hubble tﬂw

5. Who or what do the underlined words refer to in the text?
a. It(81 b. where (§2) ¢. others (§3)

B.Text Exploration Q\’? > (07 points)

1. Find in the text words whose definitions follow.,

a. to travel in order to learn about sq\mething. (§1)
g\

b. facts or information. (§2)
c. the scientific study of the sun, moon,
d. at the present time. (§3)  C ()

2. Divide the following words into roots

productive - impossible - exploration *\>y
R0 ?[g[‘v (on
(AL (

prefix ' “suffix
/ (Dot TUP

~T0

([ Po S5 .},

[ ]
ph_wgpa
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3. Ask questions which the underlined words answer. Ao W e IR k’E’E. ‘2 le 1

o

a. Weuse the tflEﬂCﬂpEﬁ agnify distant stars. —

b. The telescope was invented in the 16"century. = 'U\.) "w
c. Thousands of satellites revolve around the planet Farth. (D Y o\_k'

4. Classify the following words according to the pronunciation of lb.l »

missions - planets - telescopes - images
e W

Isl [2/ fiz/

5. Reorder the following sentences into a coherent par
a. as they are quite similar in size and gravity. D
b. Astronomers have known Venus for thousands o
c. Itis sometimes called the sister planet of{§
d. Anyway the two planets are very diffegent

fl".rrl

[ ]
ph_wgpa
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PART TWO: Written Expression (05 points)
Choose ONE of the following topics:
Topic One: Using the notes below, write a composition of 120 to150 words on the following:
Imagine that, with a group of tourists you went on planet Mars. How life wo ike there
compared to the one on Earth.
- Mars / planet of solar system
- more space / no inhabitants
- no traffic jams / no pollution
but - no form of life / no water
- no leisure / boring life

- no nice places to visit ... \7 ’
Topic Two: Write a composition of 120 to150 words on th : &?9

You have recently been victim of an intoxication eating.ai\a fast food. Tell how you felt

and what measures you decided to take.
_..--""/

[ ]
ph_wgpa
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